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Ywpphpubph  hwdwp uutnwdpebpph
dwdwagnny qudwu pupwgwlwngh wpryniupnid 2018w lwuh hniuhuh 4-htu Yupywd N <MSL-FLUMNAR-18/U-2

dwdlwagpny wwydwuwagph dwuhu nbnbywwnynieniup’

Gbnppbpdwt  tywwwyn  Ywqdwybpyws <MSL-ILUMAP-18/U-2

Qudwt wnwpYugh

pwuwlyp’ twhiwhwjwjhu ghup wujdwuwgpny
supu- R B T "t
wuuw
hpulljdhh witiuitinudp dhw- ¥ wh ! punhwunip wnljw (nGluuhjulywu ujwpwqgpnipyniup
wdwpp dnpp dhgnglbipny fl:jhbwhutulqulsh punhwtinip plnipwghn) (nbfuthYulwl
’ hongutinny punipwghp)
8npkiuh wyniphu punpny, 8nnbiuh wyniphu punnpny,
wnwug Ynnduwyh hwdh wnwug Ynnduwyh hwih
U hnwnh: Unwug U hnunh: Unwlg
RrRUNLRJWU U RRUNLR)WU U
nwnunipjwu, wnwug nwnuntjwlu, wnwug
thrnwhnwnh nt pnppnuh: thinwhnwnh nt pnppnuh:
tunuwynipjwu runuwynipjwu
quiugqwdwjhu dwup' ng quiugqwdwjhu dwup' ng
wih 15 %-hg, wih 15 %-hg,
dbnwnwdwquhuwlwu dtitnwnwdwquhuwlywu
fuwnunipnutbipp’ ng wytith fuwnunipnutipp' ng wytih
3,0%hg, unfunh 3,0%-hg, Unfunh
wyntp pwpép quitgwdwhtu dwup' snp quugywdwiht dwup' snp
1. npwlh la 180 180 45,000 45,000 ujniph 0.75%, hnwd ujnih 0.75%, hnd
unuudwujniph unuudwuniph
pwuwynipjniup' pwuwynipyniup’
wnuyjwqu 30,0%: <US wnuyjwqu 30,0%: <US
280-2007: 280-2007:
Uudwwugnipniup b Uuywnwugniegyniup b
dwyugnidp N 2-111-4.9-01- dwyugnwip N 2-111-4.9-01-
2010 hhghtiuhy 2010 hhghtuhy
unpdwwnhyubinh b unpdwwnhyutiph
“Utunwdpbipph “Utunwdpbnph
wuynwugnipjwu dwuht” | wudunwugnipjuu dwuhtu”
<< onkiuph 8-pn << onkiuph 8-nn.
hnnywdh: hnnJwédh:
(30US 26768-85) 55% - (90US 26768-85) 55% -
Junwhuwu, 45%- Junwhwu, 45%-
dhowhwu Upwnwphu dhowhwu Upwwphu
wbupp’ ginifutiinp pwipd, | wbupp’ qpnifutiinn pwnd,
wdpnnowwu, wnwug wdpnnowljwl, wnwug
hhjwunnipjniuutinh, hhywunntipniuutiph,
sdwd, dwpnip, Ukl sdwd, dwpntp, dky
pniuwpwuwlwu pniuwpwuwlwu
inbuwyh, wnwug nbuwyh, wnwug
Juwuywdputiph: Juwudwdputiph:
Snifuttipp wbiwnp E jhubu Gyntfuubipp whiwp k hutu
thndht Yuquwdnpdws, | ihndht Guqdunpyws,
wdntp, ng thfupniu b wdntp, ng htupniu b
2. YJwnwdp Uag 200 200 30,000 30,000 sifuwd: Fnifuutiph sifulwd: Hniputiph
Jwppiwu wunhbwup' Jwppiwu wumhbwup'
Yunwdph gpnifuttinp Yunwdph giniuubipp
dwpnywsd |hubkiu dhugl dwppywd [hubu dhusl
Yuuws b uyhiwy Yuuws b uyhuiwy
wbplutiph fupwn wbplutiph fupwin
dwytpbup: dwytipbup:
Ywnwdpwynph Ywnwdpwynph
Gpywpnipiniup 3ud-hg ny tGplywpnipniup 3ud-hg ng
wybih: Utfuwuhlwywu wybih: Ukfuwuhhuywu
Juwudjwdputipny, Juwuywdpubipny,
Gwptinny, gpunwhwnpywsd Gwptinny, gpninwhwpywd
gintfutiiph dptipnuwip sh gintfutibph dptinnwip sh
rnywwnpynul: UwppJwd pnyjwwnpynul: Uwppwd

1 Lpwgymid £ upyuws wuydwbiwugpny qbhp wwypwbiptiiph, Swnuwyniyginiiibiph, wfuwywtiptiiph puwtiwlp
2 Lpwgtily pywy wuwydwbiwgph ppowtiwlibpnd wnlyw ptiwbuwlwt dhongtiipny qtilhp wwpwtiptiiph, Swnuynigyniiiph, wppuwynwtiptiiph pwtwlyp, puly wuydwiiwgpny bwpwpbudus
plnhwbingy wuypwtipbitipp, Swnwynyayniiibiph, wyfuwgpwtiptiiph puwtiwlyp pugtiy Ynnph' «pinhwingny wnitwlynid:
3 bpl ypwwy wuydwtiwgph ypowtwliutpnud bwhiwpbudwé Gt wdbh phs dhongitip, www pwgtity wnljw pptiwtbivwlwt dhongtlinny bwpiunpbiuduwé gnidwph sunpp, puly pinhwtinip gnidwpp
[nuiglitiy Ynnph' «ptinhwtinipy untiwlyned:




gintfutiiph pwp ng
wwlwu - 0.7 Yg

qintuutinh pwzp ng
wwywu - 0.7 Yg

Unjwpwlwu U punhp
wnbuwlh, FOUS 26767-
85: Uuywnwugnteiniup b

dwlugnudp' puwn <<
Yuwnwywpnipjwu 2006.
ntiyunbidptiph 21-h N 1913-

Unjwpwlwu U punhp
nbuwlyh, FOUS 26767-
85: Uuywwugnipyniup b

dwlugnudip' pun <L
Ywnwywnnipjwu 2006p.
ntijinbdpbiph 21-h N 1913-

unwnht / L npnodwidp U npndwdp
ququip/ la 100 100 25,000 25,000 hwunwwnyjwd “fwpd hwunwwnyjwd “fupd
wwnin-pwuswnbinkuh wwnnin-pwugwnbintuh
nbuuhyulwu nbluuhluywu
Ywunuwlwpgh” U Ywunuwlwpgh” U
“Utunwdpbipph “Utunwdpbnph
wuynwugnipjwu dwuht” | wudunwugnipjut dwuhtu”
<< opkiuph 8-pn hnnjwd << opkiuph 8-pn hnnjwd
fFwnd, yént, Yhuwydnt fdwnd, ydnt, Yhuwydnt
Ywd pwingn, puwnhnp Yud pwngn, puwhp
wnbuwyh, ubin dwuh nbuwyh, ubin dwuh
npwdwghdp 3 ud-hg ny npwdwghdp 3 ud-hg ny
wuwlwu, GOUS 27166-86, | wwlwu, FOUS 27166-86,
wuyuwugnipyniup’ pun wuynwugnipniup’ puwn
<< Ywnwywpnipjwu << Ywnwywpnipjwu
2006p. ntlwnbdptiph 21-h | 2006p. ntlwnbdptph 21-h
dintfu unfu la 200 200 60,000 60,000 N 1913-U npnauwdp N 1913-U npnouwdp
hwunwwnyws, [Fupd hwunwwnyws, [Fupd
wwnninpwugwnbintiuh wwnninpwugwnpbintiuh
nbuuhyulwtu nbluuhyuywu
Jwunuwlwpgh L Yuwunuwlwpgh U
Utunwdptipph Uuunwdpbnph
wuynwugnipjwu dwuhtu wuywnwugnipjwu dwuhu
£< opkiiph 8-pn hnnywdh | << opbiuph 8-pn hnnjwdh
bnohly bthws’ bohly tithuwd’
wwwnpwunywsd tnwywph wwwnpwunywd tnwywph
U fungh dubiphg, puwn U fungh dutiphg, puwn
Q0US 23670-79 Ywuud Q0US 23670-79 Ywu
wpunwnpnnh wpwwnpnnh
nbuuhyulwu nbluuhyulwu
wwjdwuubiph, wwjdwuutiph,
funtuwynipyntup ng wykith funtuwyntipyniup ns wybih
pwu 68%, pwu 68%,
thwpbpwynpwd thwpbpwYnpwd
Jwyninwwhtu Yud Juyninwwhu Yud
wnwug, Jnipupwuginip wnwug, jnipupwuginip
tnohly buhuas thwpbpwYnpdwu thwpbpwynpdwu
n2 w dhwynpp dhwynpp
/pdr2lwlwu/ la 120 120 216,000 216,000 hwidwwwwnwufuwu hwidwwwwnwufuwu
whwnwlwynpdwdp: whunwlwynpdwdp:
Uuyuwugnipniup’ pun Uudwnwugnipjniup’ pun
<< Ywnwywpnipjwu << Ywnwywpnipjwu
2006p. hnywnbtdptph 19-h | 2006p. hnywbtdptph 19-h
N 1560-U npnadwdp N 1560-U npnadwdp
hwunwwnyjwsd “Uup b hwunwwnyws “Uup b
duwdpbnph duwdpbinph
nbuuhyulwu nbluuhyuywu
Ywunuwlwpgh” W Jwunuwlwpgh” U
“Uuunwdpbpph “Utunwdpbnph
wuynwugniejwu dwuht” | wudunwugnipiuu dwuhu”
<< onkiph 8- pn. << optiuph 8- pn
hnnywadh: hnnwsdh:
funquwntfun fungh funquuwntfuin fungh
duhg /dhtnghtiw/ duhg /dhtnghtiw/
thwpbpwynpwd thwpbpwYnpwd
Jwyninwwhu Yud Juyninwwhu Yud
wnwug, jnipupwugintp wnwug, Jnipupwuginip
thwpbpwynpdwu thwpbipwynpdwu
dhwynpp dhwynpp
hwilwwwwnwufuwu hwlwwwwnwufuwu
whwwlwynpdwdp: whunwlwynpdwdp:
Uuywnwugnipiniup’ pun Uuywnwugnipniup' pun
funquuwntfuin/y L& Yuwnwywpnipjwu <& Ywnwywpnipjwu
hushuw./ Ua 40 40 96,000 96,000 2006p. hnywnbtidptph 19-h | 2006pR. hnywbtdptph 19-h

N 1560-U npnadwdp
hwunwwnyjwsd “Uup b
duwdpbnph
nbuuhyulwu
YJwunuwlwnpgh” W
“Uuunwdptipph
wuytnwugnipjwu dwuhu”
<< opkiuph 8- nn.
hnnjwsdhMhuiwubihniejw
U duwgnpnwihu

N 1560-U npnadwdp
hwunmwwnyws “Uup b
duwdpbinph
nbluuhluywu
Yuunuwlywpgh”
“Uuunwdpbipph
wuytnwugnipjwu dwuhu”
<L onpkiuph 8- nn
hnnywdhMhwwubihniejw
U duwgnpnwihu




dwdltitnp ng wwlwu pwu
60%:

dwdytinp ng wwlwu pwu
60%:

Jwnwhwu b npwhwu, |
nbuwyh, sgnunnwhwnpyws,
wnwug Juwudwdpubiph,
Yinp Jwal 4 ud, 5%,
Gpyupwgyws 3,5ud, 5 %,
Yinp &Jwdl (4-hg 5) ud
20%, Gpyupwgywsd (4-hg
4,5) ud 20%, Yinp GJwsl
(5-hg 6ud) 55%,
tnYwpwgyws (5-hg 5,5)
ud 55%, Yinp &ywal (6-hg
7) ud 20%, Gpywpwgywsd
(6-hg 6,5) ud 20%:

Jwnwhwu W npwhwu, |
wbuwyh, sgpunwhwpyws,
wnwug Yuwuywdpubiph,
Yinp dJwsle 4 ud, 5%,
Bplwpwgywd 3,5ud, 5 %,
Yinp dJwédle (4-hg S) ud
20%, tpyunwgywéd (4-hg
4,5) ud 20%, Yinp Gjwal
(5-hg 6ud) 55%,
tplupwgyws (5-hg 5,5)
ud 55%, Yynp dwal (6-hg
7) ud 20%, tplwnwgywd
(6-hg 6,5) ud 20%:

Stuwlwunt Stuwlwunt
dwppnipgniup’ 90 %-hg ng | dwppnipjniup' 90 %-hg ny
7. Ywpundhy Uag 1,000 1,000 250,000 250,000 wwlwu, wwywu,
thwpbpwynpnip' wnwug | thwpbpwynpnidp' wnwug
swithwdpwndwu: swithwdnpwndw:
Uudunwugnipniup b Uudwnwugniegyniup b
dwluonidp' pun << dwluonudp' puin ££
Yuwnwywpnipjwu 2006p. Yunwywnniejwu 2006p.
ntywbdptiph 21-h N 1913- | nblwnbdptiph 21-h N 1913-
U npnadwdp U npnadwdp
hwunwwnywsd «(Gwpd hwunwwnywsd «[Fwpd
wwnntn- pwugwnpbintuh wwnin- pwugwnbintuh
nbuuhyulwtu nbluuhyuywu
Ywunuwlwngh» W Juunuwlwpgh» b
«Juunwdpbnph «Uuunwdptinph
wuynwugnipjwu dwuht» | wuywnwugnipjwu dwuhtu»
<< onkiuph 8- pn. << optiuph 8- pn
hnnywdh: hnnJwdh:
pwuwnnipdw nmwywnph pwuwnnipdw tnwywnh
duhg swdwuny ywwnywd duhg swdwuny ywwnywd
thwpbpwynpwd thwpbpwynpwd
Jwyninwwhtu Yud Juyninwwhu Yud
wnwug, Jnipupwusinip wnwug, Jnipupwuginip
thwpbpwYnpdwu thwpbpwynpdwu
dhwynpp dhwynpp
hwidwwwwnwufuwu hwdwwwwnwufuwu
whwnwlwynpdwdp: whunwlwynpdwdp:
Uuyuwugnipniup’ pun Uudwnwugnipjniup’ pun
<< Ywnwywpnipjwu << Ywnwywpnipjwu
2006p. hnywnbtdptph 19-h | 2006p. hnywbtdptph 19-h
8. pwunnipdw Ug 20 20 84,000 84,000 N 15601, nmaup N 15601 rnatunp
hwunwwnyjwsd “Uup b hwunwwnyws “Uup b
duwdpbnph duwdpbinph
nbuuhyulwu nbluuhyuywu
Ywunuwlwpgh” W Jwunuwlwpgh” U
“Uuunwdpbpph “Utunwdpbnph
wuynwugniejwu dwuht” | wudunwugnipiuu dwuhu”
<< onkiph 8- pn. << optiuph 8- pn
hnnjwsdhMhwwubihnipjw | hnnjudhMhwnwubihnipjw
U duwgnpnwyhu U duwgnpnwjhu
dwdybwinp ng wwlwu pwu | dwdybinp ng ywlwu pwu
60%: 60%:
ant ubinwup Ywd nhtwnhy, | antubnuuh Yud nhbwnhy,
2-pn Yuingh, 2-pn Jungh,
nbuwuwynpywsd pun dbYy | wnbuwlwynpgwsd pun dkly
auh quitiguish, nhtwhl | auh quitgywsh, nhtwhl
&h wwh dwu dwdytwp' | dyh wwh dwu dwdytnp'
7 op, ubinwuh &yphup' 25 7 op, ubinwuh dhup' 25
on, uwnuwpwuwjhu op, uwnuwpwuwjhu
wwjdwuubipnu® 90 op, wwjdwuutipnud* 90 op,
9. | hwyyppsony | hwo | 3800 | 3,800 228,000 228,000 umﬁjt}fisﬁ]‘én L umﬁjdfi;ﬁ}‘jﬂ L
dwluonidp' puwin N2-111- dwluonidp' puwn N2-111-
4.9-01-2010 4.9-01-2010
uwuhwnwpwhwdwdwpwy uwuhwnwpwhwdwiwpwy
wjhu Ywunuutiph L wjhu Ywunuubpp b
unpdtiph, "Uuunwdpbpph unpdbiph, "Utuunwdpbnph
wuynwugniejwu dwuht" | wudunwugnipjuu dwupu”
<< opkiuph 8- nn. <L opkiuph 8- nn
hnnwsdh hnnJwdh
4bipwynh wn’ pundp 4bpuynh wn’ puinap
ntiuwyh, Jnnugyus <US inbtuwyh, Jnnugyus <US
wn Ypwlph 239-2005 239-2005
10. funnupny 1./ wnuth 100 100 17,000 17,000 Mhwnwubihniejwu Mhwnwubijhnipjwu

dwdlybinp wpunwnpdwu

opjwuhg ns wwlwu 12
wuhu:

dwdlybinp wpunwnpdwu

onywuhg ns wwlwu 12
wuhu:




Uwhwnwy gnyuh, unpniu,
puingn, wnwg
Ynnduwyh hwih W hninp
(huswtu gnp JhGwlnud,
wjuybiu k| indnypenud):
Cwpuwnh [ndnypep whinp
£ thtp puithwughl,
wnwug $ndywd
uundwoph b Ynnduwyh
fuwnuniyutiph,
uwfuwpngh
quugqwdwjhu dwup'
99,75%-hg ng ywwu (snp
ujnuph Ynw hwpyws),
funtuwynipjwu
quugqwdwjhu dwup’
0,14%-hg ng wyby,
$tinnfuwnuntyubiph

Uwhwnwy gnyuh, unpniu,
pwngn, wnwug
Ynnduwyh hwdh U hninp
(huswtiu snp YnGwynud,
wjuybiu k| indnypenid):
Cwpuwnh [ndnypp whinp
£ thtuh pwihwughy,
wnwug gndquid
uunyjwoph b Yynnduwyh
fuwnuntyutiph,
uwfuwpngh
quiugywdwihtu dwup'
99,75%-hg ng wwlwu (snp
Unuph Ypw hwgws),
funtwynipjwu
quiugwdwihu dwup'
0,14%-hg ng wybi,
$tinnfuwnuniyubiph

1. owpwpwywq Ua 400 400 144,000 144,000 quitiquwdwht twup’ quitigyudwihl dwup!
0,0003%-hg ng wyti, 0,0003%-hg ng wyti,
Q0US 21-94 Ywu QOUS 21-94 Yuu
hwdwndtip: hwdwndbip:
Uudwnwugnipniup’ pun N | Uuduwugnipgyniup’ pun N
2-111-4.9-01- 2010 2-111-4.9-01- 2010
hhghtiuhl hhghbuhly
unpdwwnhyutinh, huy unpdwuwnhyutiph, huy
dwluonwip' dwlugnip'
«Juunwdpbnph «Uuunwdptinph
wuyinwugnipjwu dwuht» | wuywnwugnipjuwu dwuhtu»
<< opkiuph 8- nn. << onpkiuph 8- nn
hnnywdh: hnnywsh:
Mhwwubihniejwu Mhwnwubihniejwu
duwgnpnwihu dwdytunp' duwgnpnwjhu dwdybwnp'
Jwwnwlwpwpdwu ywhht | dwnwlwpwpdwu ywhhu
uwhdwujwsd dwdlytitnh uwhdwugwsd dwdytiinh
50%-hg ns ywlywu 50%-hg ns wwlwu
Fuwswwniph 90-120gn: fuwswwniph 90-120gn:
12. | powswyniph hun | 1,000 | 1,000 100,000 100,000 :j&’;ﬁ?‘;mﬂ ;”ut‘[‘j’l‘;;‘l‘,‘]‘;”‘;mﬂ
dwwnwlwpwpdwu opp: dwwnwlwpwpdw opp:
pnyYh swdhsny 90-120gp: | pnyyh swihsnyg 90-120gn:
13. | pryyp huin 800 800 64,000 64,000 Eﬁ:}zm;mﬁ: ?J‘;‘;‘;‘E‘E‘J’;mﬂ
Jwwnwlwpwpdwu opp: Jwwnwlwpwpdwu opp:
YUndpwihu uwntigywsd, Undpwdhu uwntigywd,
dwpnip, wpntuwgnyqwd, | dwpnip, wpniiwgnyyws,
wnwug Ynnduwyh wnwug Ynnduwyh
hnuntiph, thwihnty dhu hnuntiph, thwihnty dhu
wnwug nuynnh, wnwug nuynnh,
thwpbpwynpywd thwpbpwynpywd
winjhtehiGuwjhu wnihkehibuwjhu
pwnwuRubnny: pwnwuputpny:
huih Muwpunwnhp wwjdwuutp' | Mwpunwnhp wwydwuubp'
14. Uag 60 60 144,000 144,000 nbnwihnfunwip dhwju << | nbnwithnfunwdp dhwju <<
Unépwihu UUMDT Unnuhg UUMD Unndhg
npwdwnpywd npwdwnpyud
hwiwwwwnwufuwu hwidwwwwnwufuwu
pnypnynipjudp enyynipjudp
mpwuuwynpuwjhu mpwuuwnpunwihu
dhongubinny: dhongubinny:
Mhuwubihnipwiu Mhwnwubihnipwiu
duwgnpnwjhu dwdytinp duwgnpnwihu dwdytiinp
ns Wwlwu pwu 60%: ns Wwywu pwu 60%:
MNuwtpp whun, Ynyh MNuithp whun, Ynyh
Yuwiphg, wnwepuwyht, Ywiehg, wnwepuyhu,
uuwhiwlhg uhusl pwg uwhunwlhg dhusl pwg
nbnhu gnyth, nwipptin nbnhu gnyth, wwpptin
ubonuejwu U duh dtoniejwu U Guh
wspbipny: 46 % wspbinny: 46 %
JntwyuniRjwdp, ntwyunipjwdp,
whwnwubhniygjwu whwnwubhnipjwu
dwdlytitnp ng wwlhwu pwu | dwdybinnp ng ywlwu pwu
15. wwuhp |nnh Uag 280 280 616,000 616,000 90%: GOUS 7616-85 Lwud | 90%: FOUS 7616-85 Ywu

hwdwndtip:
Uudwnwugnipniup b
dwlugnudp' pun <<
Yuwnwywpnipjwu 2006.
ntiywnbtidptiph 21-h N 1925-
U npnadwdp
hwunmwinyws «Ywphl,
Ywplwdpbnpht U npwug
wpmwnpnpjwup

hwdwndtip:
Uudwnwugniegyniup b
dJwluonidp' pun <<
Ywnwywnnipjwu 2006p.
ntiuinbdptiph 21-h N 1925-
U npnadwdp
hwunwnyjwsd «“Ywphu,
Yuplwdpbnpht U npwug
wpuwnpnypuup




ubipyuywgynn wwhwug-
ubiph wbfuuhyuywu
Ywunuwlwngh» U
«Juunwdpbnph
wuynwugnipjwu dwuht»
<< opkiuph 8-nn
hnnywsh:

ubipyuywgynn wwhuwug-
ubiph wkfuuhlwywu
Ywunuwlwngh» U
«Uuunwdptinph
wuywnwugnipjwu dwuht»
<< opkiuph 8-nn.
hnnywsh:

(nthy pwnd

Lnihly pwpd
ogunwagnnpddwl inbuwyh,
wuynwugnigniup' pun N

2-111-4,9-01-2003 (N
Uwu Mhu 2,3,2-1078-01)

LnhYy pwpd
ogunwagnnpddwl inbuwyh,
wuyuwugnieyniup’ pun N

2-111-4,9-01-2003 (N
Uwu Mhu 2,3,2-1078-01)

16. Ug 350 350 122,500 122,500 uwuhnwpwhwiwéwpwy | uwuhnwpwhwdwswpwy
/ubignuwht/ wjht Yutintibiph L wjht Yuintiubiph U
unpdbiph L unpdtiph L
‘Uuunwdpbinph ‘Utunwdpbnph
wuynwugnipjwu dwuht’ wuynwugnipwu dwuht’
L opkiuph 9-pn hnnJwdh | << opbuph 9-pn hnndwdh
Upwnwphu nbupp' Upwnwphtu wbupp'
wpdwwnwwwinninubpp wnpdwwnwuwinninubpp
pwnd, wdpnnowlwu, rwnd, wdpnnowlwl,
wnwug wnwug
hhywunnipjniuutiph, snn, hhjwunnipjniuutinh, snp,
sytinunnunjwd, wnwug sytinunnninyws, wnwug
Gwptinh L Gwptiph L
Juwuywdputiph:Ltipphu Juwuygwdputiph: Ltipphu
Yuwnnigduwspp' dhonip | Yuinniguidpp’ heniyp
hjnipwih, dnig Yupdhp' hjnypwih, dnig Yupdhp'
wwpptin wnwpptip
Gpwuqutiph: Updwunwwn tpwuqubph: Updwwnwuwn
ninutiph swithutipp ninubiph swthubipp
(wibuwdbsd wjuwyh (wibuwUbS (wjuwyh
17. Pugntly la 30 30 6,600 6,600 npwdwgdny) 5-14ud: npwdwadny) 5-14ud:
fenyjwwnnynid (Snywwnpynud
oinnuiubip upqwd oinnuwiubip upywd
swithutiphg L swithutiphg b
dbfuwuhlwyw Ubfuwuhlwywu
Juwugwdpubipny 3 ud Juwuywdpubipny 3 dd
wyb funpniejwdp’ wyby funpniejwdp’
punhwunip pwuwyh 5%- punhwunip pwuwyh 5%-
hg ns wtih: hg ns wtih:
Updwwnwwwinninubphu Updwwnwwinninubphu
Yuwsd hnnh Yuwd hnnh
pwuwynipyniup ny wyby pwuwynipniup ny wyby
pwu punhwunip pwuwyh pwu punhwunip pwuwyh
1 1
Jdwpniug pwnpd Jdwpntug pwnd
ogunwagnnpddwl inbuwyh, ogunwagnnpddwlu tnbuwyh,
wuyunwugnygyniup’ pun N | wuduwugnigyniup’ pun N
2-111-4,9-01-2003 (N 2-111-4,9-01-2003 (N
Juipniug Uwu Mhu 2,3,2-1078-01) Uwu Mhu 2,3,2-1078-01)
18. Uag 150 150 52,500 52,500 uwuhnwpwhwdwdwpwl | uwuhnwpwhwdwwpuy
/ubignuwht/ wjht Yutintibiph L wjht Yuntiubph U
unpdbiph L unpdtiph L
‘Uuunwdpbipph ‘Utunwdpbnph
wuyinwugnipjwu dwuht’ wuynwugnipiwu dwuht’
L optiuph 9-pn hnnjwdh | << opbiuph 9-pn hnnwidh
wwuhp hnwunwywu 40- wwuhp hnwunwywu 40-
wwuhp hg-50% hg-50%
19. /hnjwiunwlwu/ la 20 20 72,000 72,000 Jninujuneiniu./$bunty/ Jniwijunieniu./$tunty/
Jwd hwdwpdtip. YJwd hwdwndbp.
Uwlwpnubintu wunpnd UwYwpnubinbu wunpnd
fudnphg, Ywuyws wyniph | fudnphg, Yufudwsd wyniph
nbuwlyhg W npwyphg' A nbuwyhg W npwyhg' A
(whun, gnptiuh wyniphg), | (whtn gnpbuh wyniphg),
B (thwthnty wwwybudwu B (thwihniy wwywytudwu
gnptiuh wyniphg), B gnptiuh wyniphg), B
(hwgwpefudwu gnpkiuh (hwgwpetudwu gnpkuh
wyntphg), swihwdpwpywsd | wyniphg), swhwdpwnwd
U wnwug U wnwug
dwlwpnubintu swithwdpwpdwu, 0US swithwdpwpdwu, FO0US
20. /uywgbitnp/ la 60 60 24,000 24,000 875-92 Ywu hwdwndbip: 875-92 Ywd hwdwndtip:
Uudwnwugnigyniup’ pun N | Uuduwugnigyniup’ pun N
2-111-4.9-01-2010 2-111-4.9-01-2010
hhghtuhl hhghbuhly
unpdwwnhyubiph, huy unpdwuwnhyutiph, huy
dwluonwdp' dwluonidp'
“Uuunwdptipph “Uuunwdpbipph
wuynwugnipjwu dwuht” | wudunwugnipjuu dwuhtu”
<< opkiuph 8-nn << opkiuph 8-nn.
hnnywdh. hnnwsh.
21. YJwpwg Ug 130 130 585,000 585,000 Utipnigpuwht, Utipnigpwijht,




Jninwjunipniup'71,5-
82,5%, pwndn npwyh,
pwnd YhGwynid,
wpnunthup
wwpniuwynieyniup 0,7 q,
wodfuwenip 0,7 g, 740
YYywy 200-250 g Yud 20-
25 g gnpdwpwuwihu
thwpbputpny, +0US 37-
91 wd hwdwndbip:
Uudwnwugnipniup b
dwlugnudp'pun £
Junwywpnipjwu 2006p.
ntiywnbidptiph 21-h N 1925-
U npnadwdp
hwunwinyws «Ywpht,
Ywplwdptinpht U npwug
wpmwnpnipjwup
utipluywginn
wwhwugubinh
nbuuhyulwt
Yuunuwlwngh» W
«Uuunwdpbnph
wuyinwugnipjwu dwuhu»
£< opkiuph 8-pn hnnywd

Jniwjunyeniup'71,5-
82,5%, pwpap npwyh,
pwnd YyhGwynid,
wpnwntihup
wwpniuwyniegyniup 0,7 q,
wdtuwenip 0,7 g, 740
YYywy 200-250 g Ywd 20-
25 g gnpdwpwuwihu
thwpebipubpny, F0US 37-
91 wd hwdwndtip:
Uuywnwugniegyniup b
dwlugnuip'pun ££
Yunwywnniejwu 2006p.
ntijinbdptiph 21-h N 1925-
U npnadwdp
hwunwwnyjwsd «“Ywph,
Ywplwdptinpht U npwug
wpuwnpnipuup
utipluywgynn
wwhwueubph
nbuuhywlwu
Yuunuwlwnpgh» U
«Uuunwdptinph
wuyinwugnipjwu dwuht»
<< optiuph 8-pn hnnJwd

Uhutin 40US 8758-76,
hwdwutin, dwpntp, snp
funuwynipyniup’ (14,0-
20,0) % ng wytih:
Uudwnwugnipyniup’ puin N

Uhutin 40US 8758-76,
hwdwutin, dwpntp, snp
funuwynipyniup’ (14,0-
20,0) % ng wytih:
Uuyuwugnipgyniup’ pun N

22. Yinp uhubin Uag 70 70 63,000 63,000 2-111-4.9-01-2010 2-111-4.9-01-2010
hhghtuhl hhghbuhly
unpdwwnhyubiph, unpdwwnhyutinh,
«Juunwdpbnph «Uuunwdptinph
wuyinwugnipjwu dwuht» | wuywnwugnipjuwu dwuhtu»
£ opkiuph 8-pn hnnJwdh | << opbiuph 8-pn hnndwdh
Epbip mbuwyh, hwdwubin, | Bpbip wnbuwyh, hwdwutin,
dwpntp, snp' dwpntp, snp’
funuwynipyniup® (14,0- funuwynieyniup' (14,0-
17,0) % nywytih: 17,0) % ngwytijh:
Uudwwugnigyniup’ pun N | Uuduwugnigyniup’ pun N

23. nuy Ua 90 90 54,000 54,000 2-111-4.9- 01-2010 2-11-4.9- 01-2010
hhghtuhl hhghtuhly
unpdwuwnhyubiph, unpdwwnhyutiph,
«Juunwdpbnph «Uuunwdptipph
wuynwugnipjwu dwuht» | wuywnwugnipjwu dwuhtu»
<L opkiuph 8-pn hnnw <L opkiuph 8-pn hnnw
Uwnwgywd gnptituh Uwnwgywsd gnpbuh
pithwhwu hwwnhlubtph rtithwhwu hwwhlutiph
hnydwdp, Ywd hbnwagqw hnydwdp, Yuwd hbnwquw
Ynunpwwndwdp, gnpbiup Yninpwwndwdp, gnptiup
hwwnhutipp |hund Gu hwwnhlubpp |hunwt Gu
hnyqwsd dwyptipny Yuua hnyqwéd dwyptipnny Yud
hnws Uinp hwhbutinh | hnlduwd Yinp hunhlulph
alny, funuwynipniup aluny, funuwynip)niup
14%-hg ng wkh, 14%-hg ng wih,
wnpwjhu fuwnunwyutipp wnpwjhu fuwnuntyubipp
0,3%-hg ns wyh, 0,3%-hg ns wth,
wwwnpwuwn-Jwd pwpdp b | wwinpwuwn-ywsd pupsp b
wnwohu tnbuwyh wnwoht inbuwyh
gnpbiuhg, gnpbithg,
wuyinwugnipniup b wuynwugnipniup b
dwlugnudp' pun << dwlugnuip' pun <L

24 gnnblwawdun la 80 80 24,000 24,000 Junwywpnipjwu 2007p. Yunwywpnipjwu 2007p.
hniujwph 11-h N 22-U hniudwph 11-h N 22-L
npnadwdp npnadwdp
hwunwinyws, “Cwgwhw hwunwwnyjws, “Cwgwhw
whyht, npw wnhyht, npw
wpuwnpdwup, wpwwnpdwup,
wwhdwup, wwhdwup,
Ytpwdowydwup b Ytpwdawydwup b
ognwhwudwup ogunwhwudwup
utipluywgynn utipluywgynn
wwhwugubinh wwhwuoubiph
nbuuhyulwu nbluuhluywu
Jwunuwlwpgh” b Jwunuwlwpgh” U
“Utunwdpbpph “Utunwdpbnph
wuytwugnpjwu dwuht” | wudnwugnipjuu dwuhtu”
<< optiuph 8-pnp hnndw << opbiuph 8-pn hnnyw
En2hy Yhuwwlunwd' En2hYy Yhuwwfunwd'
25. ghbunu;#awrumw Uag 35 35 84,000 84,000 wwwnpwundwsd nwdwph | ywnpwundws nwdwph

U fungh dubiphg, putn

U fungh dubiphg, puwn




Q0US 16351-86 Lwu
wnuwnpnnh
nbtfuuhhuywu
wwjdwuubiph,
funuwynipeyntup ng wytith
pwu 45%,
thwebipwynpwd
Jwynindwihtu Yud
wnwug, Jnipupwuginip
thwpbpwynnpdwu
dhwynpp
hwilwwwwnwufuwu
whwwlwynpdwdp:
Uuyuwugnipniup’ pun
L Ywnwywnnipjwu
2006p. hnlywnbtidptinh 19-h
N 1560-U npnadwdp
hwunwwnyjwsd “Uup b
duwdpbnph
nbuuhyulwu
Ywunuwlwpgh” U
“Utunwdptipph
wuynwugnipjwu dwuhu”
<< opkiuph 8- nn.

Q0US 16351-86 Ywu
wpuwnpnnh
nbfuuhlwlwu
wwjdwuubiph,
funuwyntipyniup ns wybih
pwu 45%,
thwetipwynnpwd
Juyninwwhtu Yud
wnwug, Jnipwpwuginin
thwpbpwynnpdwu
dhwynpp
hwilwwwwnwufuwu
whunwlwynpdwdp:
Uudwnwugnipniup’ pun
L Ywnwywnnipjwu
2006p. hnlwnbkidptiph 19-h
N 1560-U npnadwdp
hwunmwwnyws “Uup b
duwdpbinph
nbluuhluywu
Ywunuwlwpgh” U
“Utunwdpbnph
wuyinwugnipjwu dwuhu”
<< opkiuph 8- pn

hwéwpwdwyw

hnnwsdh hnnjwdh
Uwnwgywd hwewnh Uwnwgywd hwéwnh
hwunhljutinhg, hunhlutiphg,
hwwnhyutipny hwwnhyutipny
funtwynieyniup 15 %-hg funuwynueniup 15 %-hg
ng wytih, ng wytith,

thwebpwynpnidp' 50yg
ng wytih wwpltipny:
Uudwwugnipniup b
dwluonidp' pun <<

Juwnwywpnipjwu 2007p.
hniwdwph 11-h N 22-U

npnadwdp hwutnwnywd

thwrbipwynpnuwp' 50yg
ng wybth wwinlpnd:
Uuywnwugniegyniup b
dwluonudp' pun <&

Yuwnwywnnipjwu 2007p.
hniudwph 11-h N 22-U

npnadwdp hwutnwwnywd

26. n la 50 50 20,000 20,000 «Lwgwhwwnhyhu, npw «Lwgwhwwnhyhu, npw
wpwwnpdwup, wpunwnpdwup,
wwhdwup, wwhdwup,
Ybipwdowydwup b Ytpwdawydwup b
ogunwhwudwup ogunwhwudwup
utipluywgynn utipluywgynn
wwhwugubinh wwhwuoubinh
nbuuphyulwu nbluuhluywu
Yuunuwlwpgh» b Juunuwlwpgh» b
«Juunwdpbnph «Uuunwdptipph
wuywnwugnipjwu dwuht» | wudnwugnipjwt dwuht»
<< opkiuph 8-pn hnnwd <L opkiuph 8-pn hnnjwd
Muwnpwunywd Mwwnpwunywd
wpluwdwnyh ukipdtiph wplwdwnyh ukpdbph
[ndwdquiwu b dqudwu Inbwdquwu U 6qudwu
Gnwuwyny, pwpap Gnwuwyny, pwnpan
nbuwyh, quyws, nbuwyh, qunyws,
hnunwgtipdwsd, F0US hnunwgtipdjwd, F0US
it 1129-93: 1129-93:
27. thup 130 130 84,500 84,500 Uudwnuwugnpyniup’ N 2- Uuywnwugnipjniup' N 2-
/wnuwdwnyp/ I11-4.9-01-2010 hhghtuhy | 111-4.9-01-2010 hhghtuhy
unpdwuwnhyubiph, unpdwwnhyutiph,
Jwluonwip' dwlugnip'
“Utunwdpbpph “Uuunwdpbnph
wuynwugnipjwu dwuht” | wudunwugnipjuu dwuhtu”
<< opkiuph 8- nn. <L opkiuph 8- nn
hnnywdh: hnnywédh:
untuy untuy
untbly /dwphuwgyws/0,850yq. /dwphuwgywé/0,850yq.
28. wintth 60 60 66,000 66,000 wuynwugnipjwl dwuht wuynwugnipjwu Jwuht
dwphuwgywd << opbuph 8-nn << opbuph 8-pn
hnnwsdh. hwdwdwju. hnnwsdh. hwdwdwju.
ninnh wwhwdn ninnh wwhwdn
nnn /0,850y q/uuunwdptipnph /0,850yg/uuunwdpbpph
29. wwhwdnwgyw wintth 55 55 44,000 44,000 wuywnwugnipjwl dwuht wuynwugnipjwt dwuht
S << onpkiuph 8-nn << opkiuph 8-nn.
hnnywdh. hnnwsdh.
tighwywnwgnnptiu Gghwwnwgnnptiu
/dwphuwgywd/ 0,850yq /dwphuwgywéd/ 0,850yqg
30, | Bohunugnnbl | 55 55 45,100 45,100 ubiunwdptinph utunwdpkinph
/dwphtwgyuwd/ wuytnwugnipjwu dwuhu wuytwugnipjwu dwuhu
L<Lopkiuph8-pn hnnywdh. L<Lonkiuph8-pn hnnjwdh.
wndwnh Pwnén Ywd wnwehu Pwpdép Yud wnwohu
31. Ua 60 60 48,000 48,000 nbuwlubiph, wwwyt nbuwlubiph, wywlyt
dwdniy Yuwd dbwnwnjw Yuwd dEwnwnjw




nwpwubipny,
thwpbpwYnpnwip' dhugl
10 nd3 mwpnnnipjwdp,
Q0US 3343-89:
Uudwnwugnipniup' N 2-
111-4.9-01-2010 hhghGuhy
unpdwwnhyutiph W
«Uuunwdpbnph
wuyinwugnipjwu dwuhu»
<< opkiuph 8- nn.

wnwnpwubpny,
thwpbprwyYnpnwip' dhugl
10 nU3 wmwpnnnipjwdp,
QOUS 3343-89:
Uuyuwugnygyniup' N 2-
111-4.9-01-2010 hhghtuhy
unpdwwnhyubiph b
«Uuunwdptinph
wuyinwugnipjwu dwuht»
<< opkiuph 8- pn

hnnwsdh hnnJwdh
Cuwn uwhdwujwd Cuwn uwhdwuywd
punipwanh: punipwanh:
Uuyuwugnipniup’ pun Uudwnwugnipniup’ pun
2-111-4.9-01-2010 2- 111-4.9-01-2010
hhghtiuhy hhghtiuhy
3 dwphuwgywd huwitn 30 30 37,500 37,500 unpdwwhyubiph, huy unpdwwhyutiph, huy
Yunnitig3yg. dwlupnidp' dwluonidp'
«Juunwdpbnph «Uuunwdptinph
wuynwugnipjwt dwuht» | wuywnwugnipjuu dwuht»
<< opkiuph 8- nn. << opkiuph 8- pn
hnnywdh: hnnywésh:
Uhu tnwdwph Uhu tnwdwph
wwnbgnwd, thwihny dhu | wwnbigpwd, thwihnty dhu
wnwug nuynnh, wnwug nuynph,
qupqugwd djwuubnny, qupqugwd djwuubnny,
wwhywd 0 oC -hg dhush wwhywd 0 oC -hg uhush
40C otipdwuwnhtwuh 40C gtipdwuwnhtwuh
wuwjdwuubpnd' 6 ¢-hg ng | wwjdwuubpnud' 6 d-hg ng
wybih, wwnbgnwd duh wybih, wwnbignwd duh
dwybipbup swhwnp £ (huh dwlbipbup swhwnp E (huh
funuwy: Nuynph W duh funtuwy: Nuynph L dup
hwpwpbpwygnipeyniup' hwpwpbpwygntpeiniup'
hwdwwwwnwufuwuwpwn hwdwwwwnwufuwuwpwn
0 % 100 %, 0% 100 %,
tnwywnh thwpbpwynpnuip' thwpebpwynpnuip'
thwihny dhu wnyntipny: Unwg wnyntipny: Unwug
33. pwind Uag 350 350 1,295,000 1,295,000 Ynnduwlh hnutiph, Ynnduwlyh hnuntiph,
/wanph/ pwnd: Mhwwubihnipwju pwnd: Mhwnwubjhnipwju
duwgnpnwjhu dwdytinp duwgnpnwihu dwdybiinp
ns wwlwu pwu 60%: ns Wwlwu pwu 60%:
Muwpunwnhp wwjdwuutp' | Mwpunwnhp wwydwuubp'
wbnwihnfunip dhwiu << | nbinwihnfunwip dhuwju <&
UUMo Ynndhg UuUMo Ynndhg
npwdwnpywd npwdwnpyud
hwiwwwwnwufuwu hwlwwwwnwufuwu
pnypnynipjudp enynynipjwdp
mpwuuwnpuwihu inpwuuwnpunwihu
dhongubinny: Uhup wtitnp | dheongutipny: Uhup wtitnp
t 1huh pwgwnwwtiu E 1hup pwgwnwuwtiu
uwywunwungwjhu uywunwungwjhu
Swquwu: Swqiwu:
Cuwnhp Ywd unynpww Cuwnhp Ywd unynpwwu
nbuwyh: nbuwyh:
Uudwnwugnipyniup, Uudwnwugnipniup,
thwpbpwynpnuip U thwpbpwynpnuip U
dwyugnudp' pun << dwluonuip' pun <L
Junwywpnipjwu 2006p. Yunwywnniejwu 2006p.
puwnd wnwbn ntywbdptiph 21-h N 1913- | nblwbdptiph 21-h N 1913-
34. Ywuws gnyuh Uag 90 90 27,000 27,000 U npnaduidp U npnadwdp
Jubgnuwght/ hwunwwnyjwsd “fwpd hwunwwnygwsd “fwpd
wwnin-pwugwnbtinkuh wwnnin-pwugwnbintuh
nbuuhyulwu nbluuhluywu
Jwunuwlwpgh” b Juunuwlwpgh”
“Uuunwdpbpph “Uuunwdpbpph
wuywnwugnipjwu dwuht” | wudunwugnipiuu dwuphu”
<< opkiuph 8-pn hnnjwdh | << opbiuph 8-pn hnndwdh
Q0US 30004.1-93, QO0US 30004.1-93,
plnunnnigjnLup pwnunpnR|niup
nwdhuwgyws, nwhuwgywd,
ntghnnpugyuwséd ntighnnpugyws
pnwuwlwyu jnin (akpR), pnwwlwju jnin (G6iR),
ontp, &yh nkinunig, onin, Gyh ntinunig,
35. dw)nubiq Uag 50 50 47,500 47,500 owpwin, pwgwlfu: owpwin, pwgwfu:
Uuunwnpwn wnpdtipp Utuunwpwp wnpdtipp
100q. Upbinpnd, Swpwbp | 100q. dpbtippnud, dwnwtip
55¢., uyhwnwynigutin 1,1 55¢., uyhwnwynigutin 1,1
g, wdluwgontin 3,6q, G, wotuwenbin 3,6q,
Yuinphwywunyeyniup 514 | Yunphwywunyejniup 514
4y Wy
unndwwnp Upwwnpnnh Upwwnpnnh
36| ey Ug 55 55 44,000 44,000 i i




wwjdwuubiph hwdwawyu,
(ndynn snp ujniptiph
quugywdwihu dwup ng
wwlwu 21 %, punhwunip
fudpwpwuwyh 70 %-p
ydnt, 30 %-p' pwngn
nbkuwyh,
pwnwnpnLRNLUp’
wnndwwnh dwonty,
owpwnwywd, wn, unfu,
ufuwnnp, wnutin (Yént
nbuwyh nbiwypnid)
hwdtidniuputin:

Muwpntuwynipyniup’ 100
gpwunud wofuwentip 10-
18, uyhwnwynigutin 1.5,
Futipgtivnhy windtipp 56-
88 Yyw: Mwhwywudwu
dwdybwnp ng wwlwu 12
wuhu, F0US N-52141-

wwjdwuutiph hwdwdwyu,
(ndynn snp Ujnuptiph
quuqywdwihu dwup ng
wwlwu 21 %, punhwuntp
fudpwpwuwyh 70 %-p
ydnt, 30 %-p' pwngn
intiuwyh,
pwnunpnRNLUp’
nndwwnh dwonty,
owpwpwywq, wn, unfu,
ufuwnnp, wnujtin (Ydnt
inbuwyh nbiypnid)
hwdtidntuputip:
MuwpntuwYntpiniup' 100
gpwuinwd wétuwentip 10-
18, uyhwnwynigubin 1.5,
tutinginhy wndbpp 56-
88 Yyw: Mwhwwudwu
dwdytinp ng ywlwu 12
wuhu, F0US N-52141-

2003 2003
ult phj wnwug, fungnp ul ph) wnwug, funonp
wbpuubipny , wbpuutpny ,

hwwnhwynpywsd b dwup:
pwp&pnpwy W |1
wnbuwlutiph, FOUS 1937-
90 Ywd F0US1938-90:
Uuywwugnipniup’ pun

hwwnhwynpywsd b dwun:
pwp&pnpwy L |
wnbuwlutiph, FOUS 1937-
90 Ywd F0US1938-90:
Uudwnwugnipniup’ pun

37. Pl ul lig 10 10 60,000 60,000 2-111-4.9-01-2010 2-111-4.9-01-2010
hhghtiuhl hhghtiuhly
unpdwwnhyutinh, huy unpdwuwnhyutiph, huy
dwluonwip' dwlugnip'
“Uuunwdpbpph “Utunwdpbnph
wuynwugnipjwu dwuht” | wudunwugnipjut dwuhtu”
£ opkiuph 8-pn hnnJwdh | << opbiuph 8-pn hnndwdh
Ywuwsh nwppbip Ywuwsh tnwppbip
nbuwyh, nbuwyh,
wuywnwugnipiniup’ pun N | wudwwugnipniup’ puin N
Ywlwsh 2- 111-4,9-01-2003 (N 2- 111-4,9-01-2003 (N}
hwubd,wbwnpnt Uwt Mhu 2,3,2-1078-01) | Uwt Mpu 2,3,2-1078-01)
38. 2jw,uwdhpe,un Uag 65 65 84,500 84,500 uwuhnwpwhwdwéwpwl | uwuhnwpwhwdwwpuy
fu, wiugwuh wjhu Ywunuubiph L wjhu Ywunuubph b
Jwpn. unpdbiph L unpdtiph L
‘Uuunwdebpph ‘Utunwdpbnph
wuynwugnipjwu dwuht’ wuynwugnipiwu dwuht’
£< optiiph 9-pn hnnjwdh | << opbtiuph 9-pn hnnwidh
Unwgwsé wnwtin Ywpdhp | Unwgwd wnwbin Yunpdhp
pwngn: Unynpwlwt pwngn: Unynpwlw
hwibdniuputin mhuu:ﬁh:l;;wmpwumqwé mhuuaqh:;;]wmnwuml{wé
wpuhp pwngn wnpupp pwngn
39. /wynwbin Uag 4 4 10,000 10,000 wnujbnhg: - wnujbinhg: -
Yuipdhp/ Mhwwubhnipjwu Mhwnwubihniejwu
duwgnpnwihu dwdytinp duwgnpnwihu dwdytiinp
ns Wwlwu pwu 60 % ns Wwlywu pwu 60 %
Ul ynwbin wnwgwsd: Ul wnwbin wnwgwé:
Quithwdpwnywsd Yud Quithwdpwpywd Yud
winjhtehiGuwjhu wnihkphiGuwhu
40. hwdtdnipltin Uag 2 2 9,000 9,000 wnnwpwlubpny: wnnypwlubpny:
/wnwtin ul/ Mhwwubihnipjwu Mhwnwubihniejwu
duwgnpnwjhu dwdytinp duwgnpnwihu dwdytiinp
ns Wwlwu pwu 60 % ns Wwywu pwu 60 %
ntinht, fungnn, pwnép, ntinht, funanp, pwpan,
tplywp nbuwyh, Gpywp nbuwyh,
synunpwd, |wjunipniuhg synunpwd, (wjunipintuhg
pwdwuynu tu 1-hgdhush pwdwuynid tu 1-hguhusl
4 inhwtiph, puwn whwbph | 4 whwbph, pun whwbph
funtwynipyniup 13%-hg funuwynipyniup 13%-hg
uhusl 15%, G0US 6293- dhusl 15%, FOUS 6293-
90: Uuywwugnipiniup 90: Uuywnwugnipiniup b
dwluonuip' pun £ Ywn. dwluonidp' pun << Yun.
2007pR. hnwudwph 11-h N 2007pR. hntuwph 11-h N
41. pphud nbnhu Uag 120 120 60,000 60,000 22-U npngdwdp 22-U npngdwdp

hwunwnyjws ,
Lwgwhwwinhyhu, npw
wpuwnpdwup,
wwhdwup,
Ybpwdowydwup W
ogunwhwudwup
utipluywgynn
wwhwugubinh
nbuuhyulwu
YJuwunuwlwpgh” L

hwunwnyws ,
Lwgwhwwnhyhu, npw
wpwwnpdwup,
wwhdwup,
Ybpwdawydwup b
oqunwhwudwup
utipluywgynn
wwhwuoubiph
nbluuhluywu
Juunuwlwpgh" b




"Uuunwdptipph
wuynwugnipjwu dwuhu"
<< onkiuph 8- pn
hnnywdh.

"Uuunwdpbipph
wuywnwugnipjwu dwuhu”
<< optiuph 8- pn
hnnwsh.

2npwgpws, Ynlws,
ntinhu Yud Ywuwy gnyuh:
Uuywnwugnipiniup' N 2-
111-4.9-01-2010 hhghbuhy

2npwgpwsd, Yenuws,
ntinhu Yud Ywuws gnyuh:
Uuywnwugnipgniup’ N 2-
111-4.9-01-2010 hhghbuhy

42. ninn Ua 30 30 12,000 12,000 unpuwnhyubph L Unpdwnhyubinh U
«Juunwdpbnph «Uuunwdptinph
wuywnwugnipjwu dwuht» | wudnwugnipjwt dwuht»
<L opkiuph 8-pn hnnwd <L opkiuph 8-pnp hnnJwd
@uind Unuh Guihg, @uind nh Yuphg,
Jninwyunieiniup 3%-hg ny Jntnwyunieiniup 3%-hg ny
wwlwu, pRYwunteintup wwlwu, prYywjunyeiniup
65-1000T,: 65-1000T,:
wuynwugnipniup b wuywnwugnieniup b
dwlugnudp' pun << dwlugnuip' pun £
Yuwnwywpnipjwu 2006p. Yunwywnniejwu 2006p.
ntiywbidptiph 21-h N 1925- | nblunbdptiph 21-h N 1925-
U npnadwdp U npnadwdp
dwontu hwunwnyws «LYwphu, hwunwunyws «Hwpht,
| 950qp.nnupny | 150 150 63,000 63,000 Ywptwdptinpht U npwtg | Ywplwdebnpht U npuitg
wpmwnpnipjwup wpuwnpnipuup
utinluywginn utipluywgynn
wwhwugubinh wwhwuoubinh
nbuuhyulwtu nbluuhyuywu
Ywunuwlwngh» W Juunuwlwpgh» b
«Juunwdpbnph «Uuunwdptinph
wuynwugnipjwu dwuht» | wuywnwugnipjwu dwuhtu»
<< onkiuph 8-pn << onkiuph 8-nn.
hnnywdh: hnnJwdh:
@uind Unuh Yuihg, @und Yndh Yuiehg,
Jninwjunteiniup’ 20 %-hg jniwjuniyniup’ 20 %-hg
ns wywywu, ny ywywu,
RrrYwjunyenLup' 65-100 RRrYwjunyznLup' 65-100
0T, wuywwugnipyniup b 0T, wuywnwugnieinitup b
dwyugnudp' pun ££ dwluonudp' pun <L
Yuwnwywpnipjwu 2006p. Yunwywnniejwu 2006p.
ntywbidptiph 21-h N 1925- | nblwnbdptiph 21-h N 1925-
U npnadwdp U npnadwdp
hwunwwnywsd ““wph, hwunwwnyjwsd ““wphu,
RRYwubn Ywptwdptinpht L npwig | Ywelwdebinpht L npwg
44, /450qp./ wnntth 50 50 26,500 26,500 wpuwnnLRjwup wpuwnpnipjwun
nnuhny ubipyuywgynn utipluwjwgynn
wwhwugubiph wwhwugutiph
nbfuuhYwywu nbfuthlwywu
YJwunuwlwnpgh” U Yuunuwlwnpgh” U
“Utuunwdpetinph “Uuunwdpbinph
wuytnwugnipjwu dwuht” | wudnwugnizjut dwuht”
<< onkiuph 8-pn << onkiuph 8-nn.
hnnywéh: hnnywsh:
Mhwnwubihniejwu Mhunwubihnijwu
duwgnpnwjhtu dwdlybwnp duwgnpnwjhtu dwdlbnp
ns Wwlwu pwu 90 ns wwlwu pwu 90
Lhunuh wn; Lhunup wn:
Quithwdpwnywsd Yud Quithwdpwpywd Yud
winjhtehiGuwjhu wnihkphiGuwhu
45. \hdnup wn Uag 2 2 2,600 2,600 nnwpwlubpny: nnwpwlutipny:
Mhuwubihnipjwu Mhwnwubihniejwu
duwgnpnwjhu dwdytinp duwgnpnwihu dwdytiinp
ns Wwlwu pwu 60 % ns Wwlwu pwu 60 %
2nn, gnpdwpwuwihu 2np, gnpdwpwuwihu
thwpbpwyYnpyws, thwpbpwnpyws,
swthwdpwnyws, swithwdpwnywsd,
funuwynipniup’ 8 %-hg ny | funuwynieyniup' 8 %-hg ng
wytith: wytih:
Uuywnwugnieniup' N 2- Uuywnwugnipjniup' N 2-
111-4.9-01-2010 hhghtuhy 111-4.9-01-2010 hhghtuhy
46. fudnphs /nnnd/ Ua 2 2 4,000 4,000 unpdwwnhyutiph L unpdwwnhyutiph U
«Juunwdpbnph «Uuunwdptpph
wuywnwugnipjwu dwuht» | wudnwugnipjwt dwuht»
<< opkiuph 8- nn. <L opkiuph 8- nn
hnnywoh: hnnywsdh:
Mhuwubihnipjwu Mhwnwubihniejwu
duwgnpnwjhu dwdytinp duwgnpnwjhu dwdybwnp
ns ywlwu 80 % ns wwlwu 80 %
<unywéwdwn | ud 1l <unywawywn | yud 1l
nbuwyutiph, nbuwlubiph,
47. hunwdawywp Ua 50 50 30,000 30,000 funuwynipiniup' 14,0 %-hg | funuwynipniup’ 14,0 %-hg

ng wybih, hwnhlubnp'
97,5 %-hg ns wwlwu:

ns wybih, hwwhlubipp'
97,5 %-hg ny wwlwu:




Uuywnwugnipniup b
dwlugnudp' puwn <<
Ywnwywpnipjwu 2007p.
hniwduwph 11-h N 22-U
npnadwdp hwutnwnywd
“Cwgwhwwnhyhu, npw
wpunwnpdwup,
wwhdwup,
ybpwdawydwup b
ogunwhwudwup
utipluywginn
wwhwugubinh
nbuuhyulwu
Ywunuwlwpgh” U
“Utunwdpbipph
wuywnwugnipjwu dwuhu”
<< onkiuph 8-nn
hnnywdh:
Mhwwubihnipjwu
duwgnpnwjhu dwdytinp
ns Wwlwu pwu 70 %

Uuywnwugniejniup
dwlugnuip' pun <L
Ywnwywpnipjwu 2007p.
hniudwph 11-h N 22-U
npnadwdp hwutnwwnywd
“Cwgwhwwnhyht, npw
wnuwnpdwup,
wwhdwup,
Ybpwdawydwup b
ogunwhwudwup
utipluywgynn
wwhwueubph
nbluuhluywu
Ywunuwlwpgh” U
“Utunwdpbnph
wuyinwugnipjwu dwuhu”
<< opkiuph 8-nn.
hnnywsdh:
Mhwnwubihniejwu
duwgnpnwjht dwdybinp
ns wwlwu pwu 70 %

fdwnd Ynyh Yuehg,
Jniwyjunteiniup’ 20 %-hg
ns wuwluwu,
RrrYwjunyenLup' 65-100
0T, wuywwugnipyniup b
dwluonidp' pun ££
Yuwnwywpnipjwu 2006p.
ntywbidptiph 21-h N 1925-
U npnadwdp
hwunmwnywsd ““wph,

@uind Undh Yuphg,
Jniwyjunipyniup’ 20 %-hg
ny ywlwu,
RrRrYwjunyznLup' 65-100
0T, wuywnwugnieinitup b
dwluonidp' puwn <<
Yunwywnniejwu 2006p.
ntiljinbdptiph 21-h N 1925-
U npnadwdp
hwunwwnyjwsd “Ywphu,

RRYwubn Ywptwdptinpht L npwg | Ywelwdebinpht L npwg
48. /100qp./ hwwn 1,100 1,100 165,000 165,000 wpuwnpnipjwup wpunwnpnijwup
nnuping utipluywgynn utipyujwgynn
wwhwugubinh wwhwuoubinh
nbuuhyulwtu nbluuhyuywu
Juunuwlwpgh” W Jwunuwlwpgh” U
“Uuunwdpbpph “Utunwdpbnph
wuywnwugnipjwu dwuht” | wudunwugnipjuu dwuhtu”
<< onkiuph 8-pn << onkiuph 8-nn.
hnnywdh: hnnywsh:
Mhwwubihnipjwu Mhwnwubihniejwu
duwgnpnwihu dwdytinp duwgnpnwihu dwdytiinp
ns wwlwu pwu 90 % ns wwlywu pwu 90 %
qnyuignighs Qntlwgntjghz ndwhlhézvhn Qm{wgntzghz nduihthézhhn
49. | pdwlhputip huwn 500 500 35,000 35,000 (ll?n;‘hn“;’ﬁu‘fd“;gﬁ v (g]n:hn?rh)ujqdﬁgs v
(Ihdntwn) 10,33 /optpnd; /0,33, /ptpnd;
hugnnh fudnph yhwnwdht pwgp ng | fudnph dhunwdht pugp ng
nn wwlwu 0,5yg winuthnd, wwlwu 0,5yg winuhny,
>0 Jpwwdhu g 2 2 2,300 2,300 gnpdwpwtwh gnpdwpwitwih
thwpbpwynpdwdp thwpbpwynpdwdp
Lwdbidntupubip /ufuinnph Lwdbdntuputip /ufuinnph
thnoh/: 2Quithwdpwpyuwd thnoh/:2Quithwdpwpywd
Ywd wnihkphibuwhu Ywd wnihEphiGuwhu
51. Uhrmgf;r&h ?nZh g 2 2 3,000 3,000 wnnwnpuwlubipny: wnnujpwlubpny:
/hw niup/ Mhwwubhnipjwu Mhwnwubihniejwu
duwgnpnwjhtu dwdytinp duwgnpnwjhu dwdybwnp
ns Wwlwu pwu 60 % ns Wwlywu pwu 60 %
Lwdtidntupubin /hwdbdh Lwdbdntupubip /hwdbdh
ubipd/:2uihwdpwnpywd ubipd/: Quihwdpwnywd
Ywd wnihEphiGuwhu Yud wnihtphiGuwhu
5. hhwddh';{? uubnd Ug 1 1 1,500 1,500 wnnwpwyubpny: nnwypwyubipny:
/hw niup/ Mhwwubhniejwu Mhwnwubihniyejwu
duwgnpnwjhu dwdytinp duwgnpnwihu dwdytiinp
ns Wwywu pwu 60 %: ns wwlwu pwt 60 %:
Lwdbdntuputip Lwdtidntupubip
/pwdpwd/: Quithwdpwpdw | /owdppwd/:Quithwdpwpyuw
swbpwid & Yud wnihtphiGuwhu & Yud wnhkphiGuwhu
53. huwdhdnt Uag 1 1 2,500 2,500 wnnwpwlubpny: wnnypwlubpny:
/hw niup/ Mhuwubihnipjwu Mhwnwubihniejwu
duwgnpnwjhu dwdytinp duwgnpnwihu dwdytiinp
ns Wwywu pwu 60 %: ns wwlwu pwt 60 %:
funpnywd udpnty funpnwd udpniy
funpnywd /34g. pwitiyuyny/ /34g. pwiyuwyny/
54| Ll 340/, hwn 18 18 30,600 30,600 PRty P
wpwmwnpniRjwu wpwwnpnipjwu
hwdtidntupubip mnuhbipnd | hwdbdniupubip innuhbipny
55. | hwdbdniupttp | wnup 8 8 19,200 19,200 wwinptin hwdtinh 1 pinYh - nwnptin hwdtiph T pingh

dtip 48 hwwn: Gwihuw
plwuyw Ywd hwdwnpdtip

ubp 48 hwwn: Guihuw
plwuyw Ywd hwdwnpdtip




Ltinptinghy wnhpny
wnwywnh duhg:
Uuunwdpbinph

wuynwugnipjwu dwuhu

LtinptinzhYy winhpny
wnwyuwph duhg:
Uuunwdpbinph

wuywnwugnipjwu dwuhu

56, | unrtnhy Ug 100 100 250,000 250,000 << OPELLE 8-nn << OPELAR &-nn
/wnhpny/ hnnywdh: hnnywsdh:
Mhwnwubihnipjwu Mhwnwubiihniejwu
duwgnpnwjhu dwdybiinp duwgnpnwihu dwdltiinp
dwwnwlwpwpiwu ywhhg | dwnwlwpwpdwt wwhhg
ns Wwlwu pwu 90 % ns wWwywu pwu 90 %
funwgpwd Yup funwgpwsd Yup
2wpwipny, 2wpwipny,
funuwynipyniup’ 26,5 %- funuwynipyniup’ 26,5 %-
hg ng wytijh, uwfuwpngp | hg ng wybih, uwfuwpngp
43,5 %-hg ng wwlwu, 43,5 %-hg ng ywlwu,
" 5 Ywiplwht snp Ujniptinh Yuplwht gnp Uniptinh
tnwgnpw quugqwdwjhu dwup' quiugywdwiht dwup'
57. Ywp Ua 28 28 28,000 28,000 28,5 %-hg ns wuwljuwu, 28,5 %-hg ns wuwluu,
pRrYwjunyeiniup' 48 0T-hg | pRrYwjunyeyntup’ 48 0T-hg
ng wyih, ns wybtih,
whwwubihnipjwu whwwubhnijwu
duwgnpnwjhu dwdybiinp duwgnpnwihu dwdltiinp
dwwnwlwpwpdwt ywhhg | dwnwlwpwpdwu wwhhg
ns Wwywu pw 70 %: ns wwlwu pw 70 %:
hw hwy pwpd /inbnwywu/ hwy pwpd /inbnuywu/
58. | pupi/ubnuiw | g 300 300 450,000 450,000 1,24a-1,34g. 1.24a-1,3Ug.
! ! Snpdwnwuwyhu Snpdwpwtwihu
u/ thwpbpwynpywd thwpbpwynpywsd
gnptuh 1-hu imbuwyh gnpbuh 1-hu inbuwyh
wyniphg ywnpwunyws, wyniphg ywinpwunyjws,
<US gnpbiph31- 99: <US gnpbiph31- 99:
Uudwnwugnipyniup’ pun N | Uudunwugnigyniup’ pun N
2-111-4.9-01-2010 2-111-4.9-01-2010
72“9 ) hhghtiuhl hhghtuhly
pwgqnw unpdwwnhyubinh b unpdwwnhyubiph
59. Y Uag 1,300 1,300 715,000 715,000 “Utitnwdptnph “Utiunwdptnph
Jwinuwpwy/ wuywnwugnipjwu dwuht” | wudunwugnipjuu dwuhtu”
<< onkiuph 8-pn << onkiuph 8-nn.
hnnywdh: hnnywsh:
Mhwwubihnipjwu Mhwnwubihniejwu
duwgnpnwjhu dwdytinp duwgnpnwihu dwdybiinp
ns wwlwu pwu 90 % ns wwlywu pwu 90 %
Muwuwnbpwgywsd Ynyh Muwuwnbpwgywsd Ynyh
pwpd Ywpe 3.2 % pwnd Yupe 3.2 %
ntwijuntRjwdp, jntwjuntpjwdp,
prrYwjunejntup’ 16-21 0T: | pRrYwjunienup’ 16-21 OT:
Uwwnwlwpwpndp dhwju UwunwYywpwpnup dhwju
obipdwlwnguwinpynn sbipdwlwipguiynpynn
mpwuuwynpuwjhu mpwuuwnpunwihu
dhongny: dhongny:
Pdojwwuwutwpnidwlw Pdoywwuwutwpnidww
go. | Undh hup hup 180 180 72,000 72,000 U U jwipnpwnnp u U jwipnpwtnnp
pwnd thwuwnwwpnbinh thwuwmwwnpnbiph
wnywjnipjntup wnywjnipjniup
wwpwnwnhp £ wwnunwnhp k:
Quithwdpwnywd dhugl 1) Quithwdpwpywd dhugl 1p
unjuwpwpenpet winuthtpny | unjwpwpenet winwhbpny
Yud wwuinhl Ywd wwuwnhy
nwpwubpny: nwpwubpny:
Mhuwubihnipjwu Mhwnwubihniejwu
duwgnpnwjhu dwdytinp duwgnpnwihu dwdytiinp
ns wwlwu pwu 90%: ns wwywu pwu 90%:
pw| pwnd, dwpntp, pw| pwnd, dwpntp,
wnwug dbfuwuhywlwu wnwug dbfuwuhyulwu
Juwujwdpubinh, wnwug Juwuywdpubiph, wnwug
61. pw| Ua 30 30 12,000 12,000 Juwuwinniubh Juwuwinnibph
Juwuywdpubiph Juwujwdpubinh L
hhjwunnupjniuubph: hhjwunnigintuubiph:
Uwuwnwlwpwpynn Uwwnwlwpwpynn
fudpwpwuwyh wnujwqu fudpwpwuwyh wnujwqu
90 %-h wnpwdwaghdp 4 ud- | 90 %-h mpwdwghdp 4 ud-
hg ng wwlwu, pwnd, hg ny wwlwu, pwnd,
dwpnip, wnwug dwpnip, wnwug
62. uwinp Ua 170 170 76,500 76,500 Ubuwuhywlwu dbhuwuhyuywu
Juwuywdpubiph, wnwug Juwuyjwdpubiph, wnwug
Juwuwwnniutiph Juwuwwnniubph
Juwuywsdpubiph Juwudwdpubiph L
hhjwunnipjniuutinh, hhywunntipniuutiph,
wnwppbip wbuwlubiph: wnwppbip nbuwlubiph:
2npwgnwd 2npwgpwsd
63. nwthunt inkipl wintth 20 20 4,000 4,000 nwthubiintipliutin, nwhubinbipliutn,
funuwynipjwu funuwynipju




quuqywdwihu dwup
wnbplnwd’ 12 %-hg ny
wybijh:

quugywdwihu dwup
nbplnwd* 12 %-hg ny
wybih:

pnunw pntbuinw inbnwlwu pintbnuw innuijwiu
64. | wbnulw ba 40 40 100,000 100,000 nuaduph uhg nuluph dupg
gnpdwpwuwhu gnpdwpwuwhu
nwywnh duhg wpunwnpniRjwu wnuwnpnijwl
65. pinntp Ug 5 5 3,000 3,000 pnp pnntp
66. YJulwn Ug 5 5 17,500 17,500 Yulwn YJulwn
67. ibnr}ﬂiumwl{wh Uag 6 6 6,000 6,000 dtinn wphbunwyuw ubinn wphbunwywu
Muwwnpwunywd pghg: Muwnpwunywd pghg:
wwninubiph wwntnubiph
quugqwdwjhu dwup’ quiugwdwhu dwup'
wnuywqu 70 %: wnujwqu 70 %:
68. pgh Unipwpw Uag 25 25 57,500 57,500 Mhwnwubihniejwu Mhwnwubihnipjwu
duwgnpnwjhu dwdytinp duwgnpnwjht dwdytiinp
dwwnwlwpwpdwtu ywhhg | dwnwlwpwpdwt wwhhg
ns wwlwu pwt 60 % Lng | ny wwlwu pwt 60 % U ng
wwlwu 1 wnwph: wwlwu 1 wnwph:
Muwnpwunywd nndhg: Muwunpwunywd nndhg:
wwininubiph wwnntnubiph
quugqwdwjhu dwup' quiugywduwhtu dwup'
wnuyjwqu 70 %: wnujwqu 70 %:
69. nnuh dnipupuw Uag 20 20 40,000 40,000 Mhwnwubihniejwu Mhwnwubihnipjwu
duwgnpnwjhu dwdytinp duwgnpnwihu dwdybiinp
dwwnwlwpwpiwtu wywhhg | dwnwlwpwpdwt wwhhg
ns wwlwu pwt 60 % Lng | ng wwlwu pwt 60 % U ng
wwlwu 1 tnwph: wwlwu 1 nwph:
Muwnpwunywsd Muwwnpwunywd
nuynyghg: wwninubinh puynyghg: wuninubinh
quugqwdwjhu dwup’ quiugquwdwhu dwup'
nulynygh wnuyjwqu 70 %: wnujwqu 70 %:
70. Uag 20 20 44,000 44,000 Mhwnwubihniejwu Mhwnwubiihnipjwu
dnipwipw duwgnpnwjhu dwdytinp duwgnpnwjht dwdybtinp
dwwnwlwpwpdwtu ywhhg | dwnwlwpwpdwu wwhhg
ns wwlwu pwt 60 % Lng | ny wwlwu pwu 60 % U ny
wwlwu 1 nwph: wwlwu 1 nwph:
Muwunpwunywd Gulyhg: Muwnpwunyjwsd Guyhg:
wwninutiph wwntnubiph
quugqwdwjhu dwup' quiugywdwhtu dwup'
bywyh wnuyjwqu 70 %: wnujwqu 70 %:
71. Uag 20 20 44,000 44,000 Mhunwubihnipjwu Mhunwubijhniejwu
unipwipw duwgnpnwjhtu dwdytinp duwgnpnwjhu dwdybwnp
dwwnwlwpwpiwtu wywhhg | dwnwlwpwpdwt wwhhg
ns wwlwu pwt 60 % Lng | ng wwlwu pwt 60 % U ng
wwlwu 1 nwph: wwlwu 1 nwph:
Muwnpwunywsd Muwwnpwunywd
Ytnwuhg: wwnninutiph Ytnwuhg: wwninubiph
quugqwdwjhu dwup' quiugywdwhtu dwup'
Ytnwuh wnuyjwqu 70 %: wnujwqu 70 %:
72. Uag 20 20 44,000 44,000 Mhunwubihniejwu Mhuwubihniyzjwu
dnipwipw duwgnpnwihu dwdytinp duwgnpnwihu dwdytiinp
Jwwnwlwpwpdwtu ywhhg | dwnwlwpwpdwu wwhhg
ns wwlwu pwu 60 % Lng | ny wwlwu pwu 60 % U ng
wwlwu 1 nwph: wwlwu 1 nwph:
jngnipwn jngntpwn /100gn./ wnwhny | jngnipwn /100gn./ innuhny,
73. /100gp./ hwun 1,100 1,100 198,000 198,000 wnwppbip dpgwhu wnwppkip dpqujht
unuhny hwdtih hwdtiph
74. uwT]f}lSquljJ#r:l/Jﬁwl{ ug 20 20 10,000 10,000 uwhnwlwéwywp /dwup/ | uyhnwywdwywn /dwuh/
Lwguwfu fuudnph, Lwguwfu fuudnph,
wwwnpwunyjwd punpd wwwnpwunywsd pwpd
fuuéinphg, pnylwnpynn fuudnphg, pnywwnpynn
prRnubtnh quuqyudwihu RrRnubLnh quugywdwihu
dJwup' 4,0 %, dwup' 4,0 %,
75. pwgwfu lhwp 10 10 3,000 3,000 Suwgnpnwiht ughpunh Suwgnpnwiht uhnuh
Sdwywp 0,3 %: Swywip 0,3 %:
Mhuwubihnipjwu Mhwnwubihniejwu
duwgnpnwjhu dwdytinp duwgnpnwihu dwdytiinp
ns Wwywu pwu 60 %: ns wwlwu pwt 60 %:
76. Ynlw-Ynyw 1;. hwwn 108 108 45,360 45,360 ynu-Ynyw 1y. Yynyw-Ynyw 1.
77. Ynyw-Ynyw 1,5 hwun 108 108 54,000 54,000 UnYw-Ynyw 1,5 ynjw-ynyw 1,5
fudbh uniubih fudtih untubih fudtijh untutih
8| hwdbdntug/ la ! ! 2,400 2,400 /hwdtiniug/ /hwdtniug/
79. Ypwfudw) Ug 2 2 1,800 1,800 Ypwiudwy Ynwiudw
Uwunwlwpwpynn, Uwwnwlwpwpynn,
80. nbnd Uag 170 170 85,000 85,000 fudpwpwuwyh wnudwqu | fudpwpwuwyh wnugwqu

90 %-h npwdwghdp 6 ud-

90 %-h wpwdwghdp 6 ud-




hg ns wwlwu, pwnd,
dwpntp, wnwug

hg ns wwlwu, pwnd,
dwpnip, wnwug

dbfuwuhlwyw dbfuwuhlwlywu
Juwuywdpubiph, wnwug Juwuyjwdpubiph, wnwug
Juwuwwnntutiph Juwuwwnntubph
Juwugwdputiph U Juwudgwdpubiph
hhquunnigniuubinh, hhjwunnipjniuutinh,
wnwppbip inbuwlubph: wnwppbip inbuwlyubiph:
Uwunwlwpwpynn, Uwwnwlwpwpynn,

fudpwpwuwyh wnujwqu
90 %-h wnpwdwaghdp 4 ud-
hg ng wwlwu, pund,
dwpnip, wnwug

fudpwpwuwyh wnujwqu
90 %-h wpwdwaghdp 4 ud-
hg ng wwlwu, pwnd,
dwpnin, wnwug

81. Shpwu Ua 70 70 28,000 28,000 dbfuwuhlywlwu dGuwuhywywu
Juwuywdputiph, wnwug Juwuyjwdpubiph, wnwug
Juwuwwinntubiph Juwuwwnniubph
Juwuywdputiph b Juwudgwdpubiph
hhjwunnipjniuutinh, hhywunntipniuutiph,
wnwppbp wbuwlutiph: wnwppbip wnbuwlyubiph:
Uwwnwlywpwnynn Uwwnwlwpwnynn
fudpwpwuwyh wnujwqu fudpwpwwyh wnujwqu
90 %-h npwdwghdp 6 ud- | 90 %-h npwdwghdp 6 ud-
hg ns wwuwu, pwnd, hg ns wwlywu, pwnd,
dwpnip, wnwug dwpnip, wnwug

82. fuuénp Uag 40 40 12,000 12,000 dbfuwuhlywywu Ubfuwuhlwywu

Juwuywdputiph, wnwug Juwuyjwdputiph, wnwug
Juwuwwnntutiph Juwuwwnntubph
Juwuywdputiph W Juwugwdpubiph
hhjwunnipjniuutinh, hhywunntipniuutiph,
wnwppbp wbuwlutiph: wnwppbip wnbuwlubiph:

83. dwihuw Ug. 10 10 10,000 10,000 dwihtw dwihtw

84. ;‘L‘;:;‘ /qwd”“h lg 10 10 10,000 10,000 wquudnph /dny/ wquuidnph /dny/

Lnph Yutws, Lnph Yutws,
ubignuwjhu,wnwug Rhh, utignuwjhu,wnwug Rhh,
dwwnnwy, pwnd, dwwnnw, pwnd,

85. | Ywuws jnph Ug 50 50 20,000 20,000 wipnnutits Supnin. | wanrulia diapnin.
wnnng, spnnndwd wnnng, spnnniwd

synujnwgwd : synujuinwigud :
Ywplwsonn wnujwqu Ywplwsnn wnujwqu
9,0% jninh 9,0% jninh
wwpniuwynipgywd, Ynyh wwpniuwyniejwd, Yndh
pwnd Yuwrhg, rwnd Yurhg,
prYwjunyzyniup’ 210-240 RrRrYwjunyeyntup’ 210-240
°T, hwpbpwynpywsd °T, hwpbpwynpywd
uywnnnuywu uwwnnnwywu
nwpwubpny: nwpwubpny:
Uwwnwlwpwpndp dhwju Uwunwlwpwpnuip dhwju
obipdwlwngwinpynn sbipdwlwipguiynpynn
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1. «@mipqkt Pupuiguiyuby UQ 43,200 43,200 43,200 43,200
2. @nipgkl Pupuswiyuiny U2 29,000 29,000 29,000 29,000
3. @Qmpqht Pupugwtyuby UL 25,000 25,000 25,000 25,000
4. @nipgkl Pupuswlyuiy U2 58,000 58,000 58,000 58,000
5. @mpqkl Pupugwiymiy U 210,000 210,000 210,000 210,000
6. «@mpqkt Pupugubyuby UQ 95,200 95,200 95,200 95,200
7. «@mpqkl Pupugwiymiy U 220,000 220,000 220,000 220,000
8. @Qmpqht Pupugwbyuby UL 83,000 83,000 83,000 83,000
9. @mpqkl Pupugwiyuiy U 228,000 228,000 228,000 228,000
10. @Qmpght Pupugwtyuby UL 16,000 16,000 16,000 16,000
11. @Qmpght Pupugwbyuby UL 142,000 142,000 142,000 142,000
12. @mpqkl Pupugwiyuiy U 100,000 100,000 100,000 100,000
13. @Qmpqht Pupugwtyuby UL 60,000 60,000 60,000 60,000
14. @mpgkl Pupugwiyuiy U 139,200 139,200 139,200 139,200
15. @Qmpqht Pupugwtyuby UL 602,000 602,000 602,000 602,000
16. «@nipgkl Pupuswlyuiy U2 119,000 119,000 119,000 119,000
17. «@nipgkl Pupuswlyuiy U2 6,000 6,000 6,000 6,000
18. @Qmpqht Pupugwbyuby UL 52,500 52,500 52,500 52,500
19. «@nipgkl Pupuswlyuiy U2 71,000 71,000 71,000 71,000
20. @Qmpqht Pupugwtyuby UL 24,000 24,000 24,000 24,000
21. @mpqhl Fupugwiyuiy U 578,500 578,500 578,500 578,500
22. @Qmpqht Pupugwtyuby UL 63,000 63,000 63,000 63,000
23. @Qmpqht Pupugwbyuby UL 53,100 53,100 53,100 53,100
24. «@nipgkl Pupuswlyuiy U2 23,200 23,200 23,200 23,200
25. Qmpqhl Pupugwiyuby U 84,000 84,000 84,000 84,000
26. «@nipgkl Pupuswlyuiy U2 19,500 19,500 19,500 19,500
27. @Qmpqht Pupugwiyuby U 81,900 81,900 81,900 81,900
28. «@nipgkl Pupuswlyuiy U2 64,800 64,800 64,800 64,800
29. «@nipgkl Pupuswlyuiy U2 44,000 44,000 44,000 44,000
30. @Qmpqht Pupugwiyuby UL 44,000 44,000 44,000 44,000
31. «@mpqkl Fupugwiyuby U 46,800 46,800 46,800 46,800
32. @Qmpqht Pupugwiyuby U 36,000 36,000 36,000 36,000
33. «@mpqhkl Fupugwiyuiy U 1,295,000 1,295,000 1,295,000 1,295,000
34. @Qmpqbt Pupugwiyuby U 25,200 25,200 25,200 25,200
35. @Qmpqbt Pupugwiyuby U 46,000 46,000 46,000 46,000
36. «@mpghl Fupugwiyuiy U2 42,900 42,900 42,900 42,900
37. @Qmpqbt Pupugwiyuby U 60,000 60,000 60,000 60,000
38. «@Qnipgkh Pupuswlyuiy U2 81,900 81,900 81,900 81,900
39. @Qmpqbt Pupugwiyuby U 9,600 9,600 9,600 9,600
40. «@nipgkh Pupuswlyuiy U2 8,800 8,800 8,800 8,800
41. «@nipgkh Pupuswbyuiy U2 58,800 58,800 58,800 58,800
42. @Qmpqbt Pupugwiyuby U 11,400 11,400 11,400 11,400
43, «@mpghl Fupugwiyuby U2 61,500 61,500 61,500 61,500
44, @Qmpqbt Pupugwiyuby U 26,000 26,000 26,000 26,000
45, «@mpqkt Pupugwiyuby UQ 2,500 2,500 2,500 2,500
46. «@nipgkl Pupuswiyuiny U2 3,800 3,800 3,800 3,800
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47. «Qmpqht Pupugwiyuiy U2 29,500 29,500 29,500 29,500
48. «@mpqhl Pupugwiyuiy U2 154,000 154,000 154,000 154,000
«Qninght Pupugwlyuiy U2 32,500 32,500 32,500 32,500
2 “”nﬁkgiﬁi‘;‘@‘p%”“”h 85,000 85,000 10,000 10,000 95,000 95,000
50. «@nipgkl Pupwywbyuiy U2 2,200 2,200 2,200 2,200
51. «Qmpgh Pupugwiyuiy U2 2,800 2,800 2,800 2,800
52. «@npgkl Pupugwiyuby U2 1,450 1,450 1,450 1,450
53. «Qmpqh Pupugwiyuiy U2 2,400 2,400 2,400 2,400
54, «Qmpgh Pupugwiyuiy U2 27,900 27,900 27,900 27,900
55. «@nipgkl Pupuywibyuiy U2 18,400 18,400 18,400 18,400
56. «Qmpqh Pupugwiyuiy U2 249,000 249,000 249,000 249,000
57. «@nipgkl Pupwywbyuiy U2 28,000 28,000 28,000 28,000
58. «Qmpgh Pupugwiyuiy U2 450,000 450,000 450,000 450,000
59. «@mipghl Pupugwiyuiy U2 715,000 715,000 715,000 715,000
60. «@nipgkl Pupwywilyuty U2 70,200 70,200 70,200 70,200
61. «Qmpgh Pupugwiyuiy U2 11,400 11,400 11,400 11,400
62. «@nipgkl Pupwywibyuiy U2 73,100 73,100 73,100 73,100
63. «Qmpgh Pupugwiyuiy U2 3,000 3,000 3,000 3,000
64. «@nipgkl Pupuywilyuiy U2 98,000 98,000 98,000 98,000
65. «Qmpgh Pupugwiyuiy U2 2,500 2,500 2,500 2,500
66. «Qmpgh Pupugwiyuiy U2 17,250 17,250 17,250 17,250
67. «@nipgkl Pupwywiyuiy U2 6,000 6,000 6,000 6,000
68. «Qmpgh Pupugwiyuiy U2 56,500 56,500 56,500 56,500
69. «@nipgkl Pupwywibyuty U2 40,000 40,000 40,000 40,000
70. «Qmpgh Pupugwiyuiy U2 42,800 42,800 42,800 42,800
71. «Qmpqht Pupugwiyuiy U2 42,800 42,800 42,800 42,800
72. «@npqgkl Pupuywbyuiy U2 42,800 42,800 42,800 42,800
73. «Qmpgh Pupugwtyuiy U2 198,000 198,000 198,000 198,000
74. «@npgkl Pupuywilyuiy U2 9,400 9,400 9,400 9,400
75. «@Qmpgh Pupugwiyuiy U2 2,500 2,500 2,500 2,500
76. «@npgkl Pupuywlyuly U2 44,280 44,280 44,280 44,280
77. «@Qmpgh Pupugwiyuiy U2 51,840 51,840 51,840 51,840
78. «@Qmpgh Pupugwiyuiy U2 2,310 2,310 2,310 2,310
79. «@npgkl Pupuywlyuiy U2 1,700 1,700 1,700 1,700
80. «@Qmpgh Pupugwiyuiy U2 79,900 79,900 79,900 79,900
81. «@nipgkl Pupuywlyuiy U2 2,800 2,800 2,800 2,800
82. «Qningh Pupugwtyuiy U2 10,000 10,000 10,000 10,000
83. «@nipgkl Pupuywilyuiy U2 9,500 9,500 9,500 9,500
84. «@nipgkl Pupuywilyuiy U2 9,500 9,500 9,500 9,500
8. «Qminght Pupugwtyuiy U2 19,000 19,000 19,000 19,000
86. «@nipgkl Pupuywlyuiy U2 40,000 40,000 40,000 40,000
87. «Qningh Pupugwtyuiy U2 26,600 26,600 26,600 26,600
88. «@nipgkl Pupuywilyuiy U2 60,000 60,000 60,000 60,000
89. «Qningh Pupugwlyuiy U2 60,000 60,000 60,000 60,000
90. «Qninght Pupugwtyuiy U2 390,000 390,000 390,000 390,000
91. «@nipgkl Pupuywilyuiy U2 11,000 11,000 11,000 11,000
92. «@nipgkl Pupugwityuiy U2 52,500 52,500 52,500 52,500
93. «@mpqh Pupugwiyuiy U2 141,050 141,050 141,050 141,050
94. «@nipghl Pupugwibyuiy U2 954,000 954,000 954,000 954,000
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